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(c) Why docs DMA have priority over the CPU
when both request a memory transfer ?

(d) What is temporal localny ?

(e) Define parallel proemmg

() How overflaw is deteeted in fixed-point -
| anthmenc? . '

a:\(g) ‘What is content addressable memory ?

. 25i%(a) What are the different types of CPU
orgamzatmn?Explam with an example.

(b) Listthe algonthmto perform PUSH and POP N
,operatxonmastack. ' o 6+6A

32 "(a) Drawa clrcult for Odd pmty generator-asid -
b explam w1th truth tqble

| (b) Brieﬂy exphain, how does an interrupt is
Prs .;.;handled in a basic cqmputer system. 6 +6

4 With flowchart and numeriéat example, exPlam
" Booth's multiplication dgonthm 12
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3 (a) wm afe handshakmg sisnals? Explam
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(@) Define cache memory Explai various cache.
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(b) mmdmdvmo (2+8)+2_‘

‘Exphm general reglster orgamzatlon in CPU
. with block diagram. Also, state how does control

'.wa'dopmmtheaboveorgmxuuon. 12

-A'(a) m the workmg pnncxple of 4-b1t

Armmetnc clrcult-

(b) With blockdmgmms. explamdata transfer

‘ust.ngDMAcontroller ' o 6+6.
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